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SERIE 3

Exercici 1
Ql b
Q2 b
Q3 a
Q4 ¢
Q5 d

Exercici 2

a)

S:(E+b)(a+b)+(c_d)
simplificant
S=b+c+d
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b)
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Exercici 3
a)
27
ed = TN 0 =1,385rad/s
b)

W=mgh=156,9k]

c)
P, W
) o =~ =—=2,906 kW
nont
d)
Peléc
|=————-=14,86 A
Ucos(p)
Exercici 4
a)
d’ 3
V= RZS n.=2954cm
b)
P P
[=—"= :—””2ec =63,66 Nm
O)mot nl
60
c)
P..=cpp.=60,67kW
d)

P
5 =-me = 0,3297

term
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Exercici 5

a)

0 \A T Fw\\c |
FAB mg

b)
ZFhoritzontaIs =0 - FAB COS((D) - FCD CcosS ((D) =0 FAB — FCD
Z erticals = 0 —  F—Fygsin(@)+Fygsin(¢)-mg=0| F=mg=39,23N
c)
Fr T8

L .
dM(A)=0 > FL+ng—FCDLsm(60)=O —>F, = W: 67,94 N

F =F., =67,94N

La barra AB treballa a traccié i la barra CD a compressio.
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Exercici 6
a)
P
[ =—=3,913A
Ul
I=nl =27,39A
b)
2
R=-1=58,78Q
A
c)
v Uz U>p
R:—1:—2 - P2: 221:265,8W
P PR U



